08) = A &H
—~EAENZARBRARNY

. a b a
sind=-= > cos0=- > tanh=-
c c b

Cadt b= ¢ =Va? + b2

. a
sinf=
va2+b2
cosO=
a?+b?

2. #%0=0°> Al a=0

Sinh =——= 0 —
va?+b? Va?+b?
b b
cosO=

VaZ?+b? o+b?Z

8-1



# 0=30° > dofT45 3| 5in30° ~ cos30° ~ tan30° ?

B
c.”60°|,

30°
A b C

A L — B4 F & = A

B

D
S NABD » B B =1 B4R 60° > AT A /AABD % E = A

ca=iBD=14aB=1¢ =24
2 2 2

b=c—a"=Qa)—a’=4a"—a’=3a’> b=+3a (KEFRKEH)

sin30°=3=2 =2
2a 2
b _\Ba_\3
cos30 ==
o_@_ a _ 1 _ V3
tan30°= =B 3
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4. = 0=45° > RofF4F 3| sind5° ~ cos45° ~ tand5° 9
B

45° ]
A Z C

NABC RERAEB=AN > a=b
C=d+ b =d"+a*=2d"

c=2a (L BRI A 4)

. a a 1 2

Sind5°=—-=—=—=—
c +2a 2 2

c 2a 2 2

tan45°===2=1
b a
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5.

# 0=060° > 4of74F 2] sin60° ~ cos60° ~ tan60° ?

B
¢ a

) 60°
'

b

A L — B4 F & = A
B

A B /NABD » B & =1 B4 =& 60° > FFUA/NABD & E= A

c=ﬁ=ﬁ=2b’b=%c

azzcz—bzzcz—(%c) 2202_1C2:%C2 ’ a:\/z_§c (REAEREME)

4

V3
. a_ € 43
$in60° =-==2- = —
c c 2
1
cos60°=2=2=1
C C
\/EC
e B
tan60° = = i—c =3
2

# 0=90° > dufag4%F 2] 5in90° ~ cos90° ?
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AbC

AT A AR O ARRARIRIL 90°8F > b @ 4RL 00 a G C o
% 0=90°> b=0>a=c
(o

sin90°=2=5=1
C C

c0s9OO:2 =1 0
Cc Cc

7. BT sin ~ cos ~ tan LAY » 3&F csc ~ sec ~ cot °

1
cscl = s
secB =
cos 6
cotl =
tan @
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8. ERAEM=AIK
AREEART EC) RS BRINE
TR AEEINEH T

360°=27 ~ 180°= 7 ~ 90°:§7z ~600—§7z ~45°:§7z . 300:%7z

0(A E) 0° 30° 45° 60° 90°
1 1 1 1
9(%\5{) 0 p T 1 T 3 T > T
sin® 0 1 \/_E \/_§ 1
2 2 2
cost 1 \/_5 \/_E 1 0
2 2 2
0 0 . 1 V3 -
ran 73 3 (BIRA)

0 7 0°~90°8F » AT LAA B A F &2k
(1) 0 A& K > sin0 AR K °
(2) 0 MK > cosO A o

(3) 0 A& K > tand AR K ©
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—~CZARMHER

0. TEABAA=ZAMN » & a=5>b=2- K sind ~ cosO ~ tan0 -

c=vVaz+b2=+52+22=+25+4=+29

0 —2 5
sinf=- = —
c 29
b 2
cos=- = —
c V29
a
tand=— = =
b
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10. &40 sin0=0.6 > K cosO Fuv tand o

sin0=2=0.6 » a=0.6¢

(o}

b=+c2—a?= Jec2 — (0.6¢)% = V2 —0.36¢% = 1/0.64c% = 0.8¢

b 0.8¢

cos=—=—=10.8
C C
a 0.6¢ 6 3
tan=—=—=-==
b 08 8 4

11. &4o tan0=3 > K sind Fv cosH o

¢ =+a?+b% =./(3b)% + b2 = \/9b2 + b% = 1/10b% = V10b

) a 3b 3 310
sing=-= = =
viob V10 10
b b 1 V10
cosf=-= = =
c VJi0b V10 10
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12. &40 sin0=0.5°a=3 Kb o

b=\/c2—a2=\/(2a)2—a2:\/4a2—a2=\/3a2=\/§a=\/§x3=3\/§

13. 2o FE » AABC F » tan0=2 - ACIE E 4B —25 C' » HABIE E 4% BR—2 B »
HAC 1 AB » ,]2% o

L

B

‘" /BAC= /BAC" > Z/ACB= ZAC’B’
S.AABC 8 ANABC #8450 (AA #8/30)

St (A= R )

a’
b’

=2—r1ano=2
b
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14. %o T H > tanezg » K sin® v cosO o

4 16 25 5
c=\/a2+b2:\/(gb)2+b2=\/?b2+b2= /?b2=§b

: a 4
sing=— = =-
c 5

W | uw |
&

b
cos0=- =
C

wé_‘ml >
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